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P = prices. In a perfectly competitive market prices are constant, regardless of the quantity sold.

TR is total revenue = P * Q      Q= quantity sold 

MR is marginal revenue = the change in revenue divided by the change in quantity

MC is marginal cost = the change in cost divided by the change in quantity

Profit = TR - TC

Profit = (price – average cost per unit) * quantity 

Assumption 1: consumers will buy as much as the company produces at the market price.

Assumption 2: the firm sets their price at the same level as all other firms in the industry.

In other words the firm is a price taker. Since the firm does not have to make a decision about prices, their only decision is what quantity to produce. They will produce units until it is no longer possible for them to earn profit. 

Fill in the table below
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The profit maximizing rule is MR = MC.

This means the firm produces the level of output (q) where the marginal revenue is equal to the marginal cost.

What is the profit maximizing quantity the firm should produce?

MR is the revenue derived from selling one more unit of the good.

MC is the cost of producing one more unit of the good.

If MR > MC the firm will continue to produce

If MR < MC the firm will reduce production 

The graph of the perfectly competitive firm and industry.
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INDUSTRY

Find the profit maximizing price for the firm.

What price is charged in the industry?

Why does the firm take their price from the industry?

Shade in the profit area.

What will happen in the long run in the industry?

What will happen in the long run to the firm?

Show the long run equilibrium picture for the firm and the industry.



Perfectly Competitive Model

short run firm and industry 

Since the price of the good is given to them by the industry, the only decision the firm must make is how much to produce. The way they determine the amount to produce is to go to the point where MC intersects the demand curve (MR curve) and go straight down to the quantity axis. This is the firm’s optimal amount to produce, Q*, where the firm maximizes their short run profits.

To find the profit (or loss) area, go to the point where MC=D, draw a line straight down 
 from this point. At the point where that line intersects the average cost curve, the average cost (AC) per unit sold is determined. This point is important because (P - AC) multiplied by the number of units sold = profit. There could be a loss if AC is greater than P.

path to the long run: firm and industry

If a firm is earning a profit (or loss), firms will enter (or exit) the industry, this will cause the industry supply curve to shift to the right (or left). When the supply curve shifts to the right (left) the price of the good will decrease (increase). Therefore, all of the firms in this industry must charge a lower (higher) price for their good. Since costs stay the same, the lower (higher) prices charged by the firms forces their profits to shrink (increase). The profits will continue to decrease (increase) until the point where there are zero profits for every firm in the industry.

Graphically this point is where Price = Average cost (it also is the point where AC = MC)

THIS IS THE LONG RUN EQUILIBRIUM POINT.

Once the industry is in log run equilibrium, no firms will enter or exit this industry unless there is a change in the industry demand or supply curve. 

Let’s assume that there is a decrease in the industry demand curve. What will happen?

1. The prices charged by the firms in the industry will decrease.

2. The firms in the industry will experience losses.

3. Firms will drop out of the industry.

4. The industry supply curve will shift left.

5. The price of the good will rise and the quantity of the good sold in the industry will decrease.

6. At the end, (in the long run) the industry and firm’s price will be the same as it was before the demand curve shifted left. Each firm that survived will produce the same amount. However, there will be less firms in the industry.

The Perfect Competition Story

The firms in a perfectly competitive industry have no power in setting their own prices. If a firm decides to raise their prices, customers will simply go to other competitors to purchase the same, homogenous, product. The assumption is that the firms can sell as much of the product as the want as long as they sell at the market price. Since the market price is observed by looking at the competition, the only decision a company has to make is how much to produce. They will produce the quantity that maximizes their profit. 

In the short run these perfectly competitive firms can earn profits, or lose money. IF they earn economic profit, then other firms will enter the industry because entry is free. There are no barriers to entry. As these other firms enter the industry, the industry supply curve shifts to the right (there is an increase in the number of sellers). As the industry supply curve shifts to the right, the market price drops. When prices drop, holding costs constant, the firms in the industry earn lower profits. More firms will continue to enter the market as long as there are positive profits. When the economic profit equals zero (P = AC), the industry is in long run equilibrium. Since profit is zero there is no incentive for firms to enter or exit the industry. 

This condition of long run equilibrium will continue until the industry demand or supply curve moves. Lots of factors can cause the industry demand or supply curve to move (income, taste and preferences, prices of related goods on the demand side, costs, productivity or technological changes on the supply side. The process of reaching equilibrium is natural because there is no government involvement. The government does not tell the firms what price to charge, or when to enter or exit the industry.  







